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If 40 dressings fit in the container and | have 16
already made, that means | have to make 24 to

Happy Monday, September 26! g,

Homework on Desk!
Do Now:

1)-State the end behavior of the graph. How many

turning points does it have?
LeSx - Y’;'é
. BO\QV\ X=0O
R\C) Ny
X (x+3) (x-5)

Sep 21-8:30 PM

Learning Target:
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345 =5 What goes where?
l N

e
R

5 9= 4
3%5\(*\b

Two Outcomes:

Perfectly divides (no remainder) -> divisor a
factor!

Remainder -> divisor is NOT a factor

Sep 26-9:41 AM

September 26, 2016

5.4a- Dividing Polynomials

U3 DUl — 3

Long Division: \ 5‘ Steps
) Divide.

423 46 ) Multiply.
— L ) Subtract.
f{t\ \ l L ) Bring Down
= —_— - 5) Repeat Steps 1-4 until out of
\\O -\- 3 \ l numbers
R \ Q 5 6) Put y*i)ur ‘remainder’ over your

**a remainder of zero means that the

5 divisor

3 divisor is a factor of the dividend
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|

Oct 31-2:48 AM




h 34 U1LT5 5.4a day 1 long division.notebook September 26, 2016

Practice:
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Sep 26-9:48 AM

Using this same logic... (Note: We only worry about the FIRST term when

dividing, but when we multiply, we multiply by the whole divisor)
| X +3 )

=5 =2x-15
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September 26, 2016
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Oct 31-2:54 AM

degrees

(27y" -3 0y)+(9y-06)
o 24k
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Note: Put in 0 place holders for any/all missing
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Is x* +1 afactor of P(X)=3x* —4x* +12x*+5 ?
2\ .
x (% )(L‘I-—L(YB-\—\ X +=5> ‘-‘(\@««\}
\ﬁo\\/q 0\VLW\«'\V\C’“’J?
Y Z ! RN

Is x — 2 a factor of P(x)= x° —32

Oct 31-3:05 AM
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Exit Ticket:

How can you use division to figure out if a
polynomial is a factor of another
polynomial?

Sep 26-9:56 AM

Homework:
G +9x” +8x+4)+(x+2)  2) (¥’ —13x-12) + (x-4)

3 2
3) Decide whether each binomial is a factorof X~ +4x~ +x—6

a) (x+1) D) (x+3)

Sep 26-9:51 AM
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Homework: 5.4a pg 308 #13-16,17,19, 44-47

Divide using long division
13. (3x® + 9x% + 8x + 4) = (x + 2) 14, (9x% — 21x — 20) = (x — 1)

15. (x> — 7x + 10) = (x + 3) 16. (x* — 13x — 12) = (x — 4)

Determine whether each binomial is a factor of x> + 4x2 + x — 6.

17. x + 1 19. x + 3
Divide.
44, (26 + 9x% + 14x + 5) + (2x + 1) 45, (x* +3x* + x +4) =+ (x + 3)
46. (15 + ]) + (x+ 1) 47. ICJ:“ + 4x3 — x — 4] = (x¥-1)

Oct 5-7:16 AM
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